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“Statistical Physics” Spring 2003

Quiz 3 (5 points) 31 January 2003

Professor Mark W. Meisel

PLEASE PRINT and box final results. Show all work for full credit.
Work must be clear and unambiguous for credit.

A paramagnet in one dimension can be modelled as a linear chain of N + 1 spins. Each spin
interacts with its neighbors in such a way that the energy is U = ne, where n is the number of
domain walls separating regions of up spins from down spins. Assume that N is large. Show that
the energy is related to the temperature as
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